

Course Fundraiser Revenue Opportunities

Item	Cost	Profit
Total hole sponsor of tee sign and wrap sold at \$300/each / Profit per hole is \$185	\$2,070	\$3,330
Basket Wraps sold at \$150/each / Profit per wrap is \$130	\$360	\$2,340
18 Tee Sign Sponsorship sold at \$200/each / Profit per basket is \$100	\$1,800	\$1,800
100 Special Edition DyeMax Fundraiser Discs with COA's sold at \$30/each / Profit per disc is \$20	\$1,000	\$2,000
18 Used Baskets sold at \$100 Each	-	\$1,800

Items



CUSTOM BASKET WRAPS

- Custom Full-Color custom layout
- Built to stand up to any elements
- Vibrant UV resistant vinyl
- Area for sponsorship if applicable
- Available for Patriot and Veteran baskets



DELUXE TEE SIGNS

- 12" x 18" Sign
- Custom Full-Color custom layout
- Frame is white powder-coated finish to add visibility
- Built to stand up to any elements
- Vibrant UV resistant vinyl on durable .040" aluminum backing
- Area for sponsorship if applicable
- Tee Sign Pole NOT included



FUNDRAISER DISCS

- Cost = \$10
- Retail = \$20-\$30
- Multiple molds available
- Minimum of 10 discs per mold

Quote Example

DYNAMIC **DISCS**

Dynamic Distribution 3601 W 6th Ave. Emporia, Kansas 66801 620-208-9260 Prepared by: Sherri Mitchell

DATE: 5/3/19
CUSTOMER: Emporia Country Club
SHIPPING LOCATION: Customer Pick up
PHONE NUMBER:
EMAIL:

Product Description	Quantity	Price	Extended Cost
Dynamic Discs Permanent Veteran Basket	18	\$350	\$6300
- Includes ground sleeve, locking collar, lock and key			
Deluxe Tee Sign Large with Frame	18	\$110	\$1980
Kiosk Sign with Frame	1	\$400	\$400
White Basket Flag with Black DD Logo	18	\$20	\$360
Caution! Flying Discs Sign with Frame	2	\$30	\$60
Mando Sign with Frame	3	\$40	\$120
Disc Golf Rules Sign with Frame	1	\$40	\$40
PDGA Code of Conduct Sign with Frame	1	\$40	\$40
The Ace Club Sign with Frame	1	\$30	\$30
Estimated Shipping, Customer Pick Up			N/A

QUOTE TOTAL without Shipping: \$9330

***quotes are valid for 90 days, shipping is subject to change**

ADDITIONAL COURSE DEVELOPMENT PRODUCTS

Next Tee Box Arrow - \$10 ea. --Hot-dip galvanized/Perfect fit clips on to Veteran basket White Basket Flag - \$20 ea. -- Fits in top of Veteran pole for permanent installation Additional Permanent Ground Sleeve - \$15 ea. --19.25" Long/Hot-dip galvanized Disc Golf Rules Sign with Frame - \$40 ea. -12"x 18" sign/Built to stand up to any elements PDGA Code of Conduct Sign with Frame - \$40 ea. -12"x 18" sign/Built to stand up to any elements Caution - Flying Discs Sign with Frame - \$30 ea. --10.875" x 8.125" Mando Sign with Frame - \$40 -12"x 18" sign/Built to stand up to any elements --12"x 18" sign/Built to stand up to any elements Ace Club Sign with Frame - \$40 Course Kiosk Sign with Frame - \$400 -- Frame out of ground - 4'W x 7'H --Course Kiosk Sign - 42"W x 30"H --Course Kiosk Sign available without frame: \$200

Participating in the Course **Fundraiser Program is** contingent upon purchasing **Dynamic Discs Patriots or** Dynamic Discs Veterans.